MARKING SCHEME

ECONOMICS (576)

Class 12th SAMPLE PAPER SET: D M.M:80

Q-N( EXPECTED ANSWER/VALUE POINTS MARI

1 b) qu@ SrfeRa b) Micro Economics 1

2 a) EIE?TT%I a) decreasing 1

3 a) YTHD a) Positive 1

4 b ) Ul wfaegef b) Perfect competition 1

5 C) aﬁa’ﬁrﬂ'ﬂ 3R qﬁ@ﬁf GRIBIAI & ¢) is caused by both demand and supply of goods 1

6 EREIEED Ordinal 1

7 qﬁﬁﬁﬁﬂ Extension of supply 1

8 HeUpId] Shortrun 1

9 d) 3B (A) ITcdd % i HRUT (R) el %I d) Assertion (A) is false but Reason (R) are true. 1

10 | a) &f\%%H(A) 3R BRI (R) Eﬂ:ﬁ?@ % 3R a) Both Assertion (A) and Reason (R) are true and 1
DRI (R) HfHBHYA (A) B E?)IGIIT@IT%I Reason (R) is the correct explanation of Asseration(A)

11 1.5
IR H, AT S T afeiep! § Sl fafve 7o In economics, a demand schedule is a table that L5
TR IR T aq a1 a1 1 AT B T8 71 I SRMCH | shows the quantity demanded of a good or service
&1 Teb 7T 3Tl I Ueb =1 W R AT e at different price levels. A demand schedule can be
&Y H Y@ bl S Yabdll & STaT x-31&f HIad B graphed on a chart as a continuous demand curve
TRITRIE BT & SIR y-31&f T BT ARG FAT | where the Y-axis represents price and the X-axis
%| represents quantity.

OR
S{Ydr

Fixed cost is an expense that does not change as 3
St AT Ue T o0 @ i) faish! a1 SedTed BUART | sales or production volume increases or decreases.
§g1 1 UeH W g1 gaeid] o | S aNTd 3 @ 8 S Fixed costs are expenses incurred by a business that
Ueh gy gRI U WId € il Saifead a¥g3l a1 UaM | do not change with the amount of goods produced
&1 175 aTefi P HIAT b WY Ta1 Faed § | U AT or services provided. These costs are not directly
RIEKIN R fohdt ITg o fmfor 1 et geH associated with manufacturing a product or
BESECE providing a service.

12 3
anﬁaﬁ%ﬁaaﬁﬁreﬁaﬂﬁmﬁ CERIEEARIY Elasticity of supply can be defined as the
anﬁaﬁnénwaﬁqﬁrﬁo‘m o e & =u d degree of responsiveness of the quantity supplied
R forar o wear B good to a change in its price.

39 UGfd & dgq, S{Fq:% D! A Pl S{F{ﬁfﬁ AEATH | Under this method, elasticity of supply is

Ufa=Id gikadH &I HiHd J Ufd=d uikady 3 fAHSId | measured by dividing the percentage change in

PP AT ST %I quantity supplied by the percentage change in price.

Es= qﬁ-fﬁcri%matrﬁaﬂ:v HiAd § ufa=rd aRad= s = Percentage change in supply/ Percentage
change in price

13
HRE & TAhd & 99 & SR, s BRP] D According to the law of marginal returns, keeping 1?*

fRR @ 3R 99 uRad-1a R H g 8Kl 3,

T FT IUE U5 Tgal R Y Sea 3, IR sy R @
Fedl § 3R 3idd: Ue SId g

PRS & UAHd &1 (99 $d IdTed & JdeR o
TSfId BT 81 I8 U 3IcudpIferd SITYRUT g

other factors constant and when the variable factor
increases, the total product first increases at an
increasing rate, then increases at a decreasing rate
and finally decreases. The law of returns to a factor is




PRE & UA%hd & I U 5
(i) RS & Fgdl glabd|

(i) PR® b TR UfdHd|
(iii) PR® & ged Ufdwd|

YT

Yelardl srfeqawit @R srfeqaw)
1. Uh U yurrett § St foft TIume Iare & BRI
SR 91, TThiaids TTeE a1 Yo I &1

related to the behavior of total production.
This is a short-term concept.

There are three aspects of return to a factor:
(i) Increasing returns to the factor.

(i) Constant returns to the factor.

(iii) Diminishing returns to the factor.

Or
Capitalist Economy (market economy)

1. A system where private entities control the factors
of production such as labor, natural resources, or

W% capital goods L3t
W Srfoaer 8, |iT 3R Waﬂ‘}h 2. In a capitalist economy, demand and supply forces b

G'hT Y13l BT BT P THITIT B © influence the price of goods and services.

3. W Srferawn ﬁaﬂ&ﬁ 3R @?ﬂ&ﬁ%B‘cCﬂET-r 3. In a capitalist economy, the main objective of

WH’@[B%’WETNWT@HT%I production of goods and services is to earn profit.

wHTSATd! e Socialist Economy

. 1. Is an economic system where the factors of

1.TP W%Wﬂ?ﬁ%w ST & PRP aﬁ %n:[,. production such as labor, natural resources, or

W NALRE tpﬁﬂa I WHR & o o capital goods are under the control of the

Eﬁﬁ % government.

2. GHTSATS! 3rfeugey 7, aﬁéﬁ 3R Harefi 1 Biwd 2. In a socialist economy, the prices of goods and

WHR BT 3G 3R (701 3 FIefl & services are under the supervision and control of the

3. gHTSIaTd! Srferawyt # aegait SR Jarsit & Iare government,

DT H@m 3{TH ST ST HedTol g 3. The main objective of production of goods and
services in a socialist economy is the welfare of the
general public.

14

THIIBR YR T TR Hisd o o o5 Monopolistic competition is a market model in which

HUT ST 3T ST ST, A 3R several companies offer different products (differing 2+2

yfergT # i) U= el © SR Uep- @3{ %E\_}TH EISRL] in quality, branding, style, and reputation) and

ng 3 3 W I S JHH A1 WW compete with each other. The goods or services they

I § d THM g Wb RIFTYS IHHE ol 8 provide to their customers are similar but not

1. shareff 3R fasharaii @1 sifdres we substitute goods.

2. U BH W@ﬁv_ﬁ el IeTg S B 1. Large number of buyers and sellers

3. BH! gRT I § e Haw ofR | 2. Each firm produces similar but different products.

4. U] IATE BT U, B SR IATE BT 3. Free entry and exit by firms in the industry.

faUU Y foraT ST &, 39 SR W ufeasf 4. Companies compete on the basis of product

FIA quality, price, and how the product is marketed.

15 4

TJa PIAd I8 B Bl & STel a¥g B [T ot gfet

IR
Bl & o BHAd R GeR 3R [Fgar 3Hi
PIS gGard ! UG H 781 &1 dop-ip! U A 39
PIAd R TRIeRI gRT AR 1S AET fashdrai gr
3gfcf &) 7S A & SRR Bl 7

Safts YT HId WBR gRT [HAM! DI FAdH 31
AT M & forg e &t ot 31 39 Fiaa
IgeH HHd & SR [AUiRd 31 St 8 19w ge
B B 3% IdTG! & o ATH T B! TR

Equilibrium price is the price where demand and
supply of the commodity are equal. At equilibrium
price, both buyers and sellers are in a position of no
change. Technically at this price the quantity
demanded by buyers is equal to the quantity
supplied by sellers.

Whereas the support price is fixed by the
government to ensure minimum income to the
farmers. The support price is set above the
equilibrium price. Support price serves to guarantee




S BT DT Il ¢ | T3 DI DA Sl 1@ 3R
BT & G B I WA & oY, TRBR &1
I SR § yafe 7 § QE @Rie o7 difes
DI R GaTd STell off Gob |

farmers a minimum price for their products.

To keep commodity prices high and maintain
farmers' profits, the government's solution was to
buy enough goods into the market to put pressure
on prices.
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W] ST/ SUDY Rigid & TR HIoH Bl Bidd
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F (Food Availability Decline - FAD Theory) §1
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According to the food availability degradation
theory, there is a decrease in the availability of food
or food items for poor people due to increase in the
price of food. It is also known as FAD theory which
was proposed by Nobel laureate Prof. Amartya Sen
has propounded.

According to the theory, when food supply in a
country is reduced due to a natural disaster, their
prices increase so much that it becomes difficult for
poor people to buy them. Due to which poor people
start dying due to hunger. This situation is called
famine situation.

According to the theory, due to famine and lack of
means of transportation, there is a reduction in the
availability of food to the poor people, as a result of
which they start dying more. We can understand this
principle with the help of a diagram.
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igure 20(D). A’ is a very poor family, 'B' is poorer than 'C' and 'C' is a rich family. OP, at the

bility of grains decrea:

the
Auvailability Decline Theory" (FAD Theory).

OR

When demand remains constant a positive change
in supply shifts the supply curve to the right,
resulting in an intersection that leads to lower
prices and greater quantities. A negative change in
supply, on the other hand, shifts the curve to the
left, causing prices to increase and quantities to
decrease.

4. Effects of Change in Supply
on Equilibrium Price

1
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I B IUNT B YA el R bl gl

2. BH & g A1 et Ibd B

3. Y & g g1 1 I3 US Wbl § ifeh
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SITHT <TH
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3Ydr

P dNId :-

Tl 9 &1 U MIYTH O3 &1 IdTed A & forg
S H ¢ T HRAT ISl §, 3 A AN HEd 7
e 500 HIUTT BT IATG HRA P 1T Ho 2000 T
FRAT UST 8 dl 500 FHIA B} Hel ARTA 2000 TG
BNt | SieysTel | Fd AR &1 UHR BI giet 5

1. 9t @I (FC)

In a situation of equilibrium, it is not necessary that
the firm is getting abnormal profits. Three situations
can occur in this situation.

1. The firm may get abnormal profits because new
firms cannot enter the industry in the short run.

2. The firm can get normal profits.

3. The firm may have to suffer minimal loss because
even if the price decreases in the short run, the firm
will not stop production forever. Even if it stops
production only for a short period, it will have to
suffer losses on fixed costs. This will be the
minimum loss of the firm.

Abnormal Profit :-

Normal profit:-

Loss:-

OR

Total Cost :-

The total money that has to be spent to produce a
certain quantity of a product is called total cost. For
example, if a total cost of Rs 2000 has to be spent
to produce 500 copies, then the total cost of 500
copies will be Rs 2000.

There are two types of total costs in the short run.
1. Fixed Cost (FC)

2+2+

3+3




2. uRgd=ie arId (Vo)

TC=TFC+TVC

TC=TFC+TVC
¥ TFC 3 % 5 = w3 81
D TVC 3797 723 & 5 2t &)
¥ TCAFRTVC 7 & Faran #1 vt war #h

ETC A TVC ¥ 4 = 3 (=TFC)wm
#

2 3 4 3
OUTPUT (Units)

3Nd ANT:-

fHa IaTe >t Ufd IHIS ANTT DT 3N AN Bl
SIS

AC=TC/Q
STafy H, 3Nd ANt 3 fAfyd amTd 8ik eid
URGd-1g ARTd T AT g |
AC=AFC+AVC
Zf\ ‘\/AC s T (AC) T # s Uswmm & b
3 I F 933 F T T sww 2 A &, R
g TRt mIws Ay
HAid IRTa:-
ol avg @1 Te SR SH1E BT IdTe TR U A
AT H S 3fcR 37T 3¢ I AHid T Had
MC = ATC/AQ
s e
ue fodelleat T
/ e ¥ T2 g MC w3 (MP)
F FgET 7@ T ¢ T e S pe
wfawe &1
e T MP 791 MC T35 & e B
Lol ]

X

OUTPUT(Units)

2. Variable Cost (VC)
TC=TFC+TVC

N
OUTPUT (Units)

Average cost:-

The per unit cost of a product is called average cost.
AC=TC/Q

In the short run, average cost is the sum of average
fixed cost and average variable cost.

AC=AFC+AVC

The shape of the average cost (AC) curve is U-
shaped. As production increases. it iniially falls, then
becomes stable and finally starts increasing,

Marginal cost:-

The difference in total cost incurred by producing
an additional unit of a good is called marginal cost.
MC = ATC/AQ

Note: MP and MC are exac! opposites of each-
other.

OUTPUT(Units)

18 | b) Hhd g - HoUs b) Gross Investment - Depreciation 1
19 | a) 3P ATTH a) More wider 1
20 | b)faFRma® 31':[%@% b) is exchange ratio 1
21 | b) 3FHard HITdH b) Mandatory payment 1
22 | d)yd ol d) All of these 1
23 | gWid wealth 1
24 | dIH Profit 1
25 | Uh One 1
26 | d) SYHY (A) TTeld % Wfh HRUT (R) ?l'eﬁ %‘I d) Asseration(A) is false but Reason(R) is true. 1
27 | ¢ MYHYT (A) ﬂ%p[% qifdh HRUT (R) TT@H%I c) Asseration(A) is true but Reason(R) is false. 1
28 nwaeffaﬁsﬁ EAk] JEJU Bl Srdl 8 fSH®1 Iuam Intermediate goods are those goods which are used | 3

JENT GRT IS a1 Yaaif & Iadre & forg fovar S
®1 39 a1 ! IdTed aeqy o Fel o g |

by the industry to produce goods or services. These
goods are also called productive goods. In other




SR Xsal T, T a¥g3il o1 SuanT 3ifad awgsft a1
U aIg3T & Il & e faan ST g |
Tegad! M - S THS - f 7R IdTE 8 ¥hd §,
Fiifs 3T SuHast gRT W IuHT far ST 8

words, intermediate goods are used to produce
final goods or consumer goods. Intermediate goods
—such as salt — can also be finished products, as
they are consumed directly by consumers and used

3R IATEH! GRT 37 WTE IATG! & 0T & fore by producers to manufacture other food products.
SURT {3 SI1e 3

OR
S{Ydr

Expenditure method is the method by which final 3
o7y fafy g fafdr 8 foraes gri TS 1 a8 H SR expenditure on GDP at market prices in an
PIId R Jhd PR Idlg WX fpu TQ sifcw org &1 accounting year is measured. This final expenditure
TTT ST 8 | 8 3ifdH o0g 9ok $1Ad R I Eﬁ?‘l is equal to the gross domestic product at market
IS & SRR Sl & | prices.
Y fafd &1 YA Hrad qug Fgfeiad Saufar The following precautions are necessary while using
IS &:- expenditure method:-
1. bl 99 P HIY HRd THY, GIes] TUHT Y §94 & | 1. While measuring gross expenditure, only final
frQ, o sifcd g &1 g1 ISH 2 fovan ST expenditure should be included to avoid double
Bl counting.
2. 3T &I TTUFT R T uma?ﬁaﬁ T | 2. Expenditure on intermediate goods should not
A :@[ﬁv_ﬂTGﬂ:ﬂﬂﬂ%ﬂ be included while calculating national income.
3. WHR GRT GXAARUT YA DI M e foar 3. Transfer payments by the government are not
STl included.

29 fﬂﬂ@f% SIFIERSHE] ﬁgﬁw I DI The need to facilitate the exchange of goods led to | 1.5+
W%WH@T CANCCAR T gﬁmwﬁ@r the development of money. The world went through | 1.5
O] @[WW T &1 IUTIT a1 foban 7mam o7 3R a phase when money was not used and goods were
ayd fafma A gorett 4 aﬁ?rﬁ DI UD W & forw directly exchanged for each other in a system called
Y 31U far S | ay] [ClRERE] barter. Due to the inconveniences and shortcomings
&ﬁﬁq’wéﬁ 3R HHal & HRur R4 f_f g & of barter, the use of medium of exchange gradually
WWWWW@WI it Wﬁaﬁx’:ﬁﬁ started. All types of goods have been used as a
IuanT fafg & AregH & U | fear T |1 3% medium of exchange. These are called commodity
HASE T g1 Sl 8 | FAfSS 7t ot sruafean money. Due to inadequacy of commodity money,

& HRUT Y1 Hal, I T 3R Tt WWE&HI metal money, i.e. gold and silver, developed. Due to

U’I@GﬁWB'CP?h‘T HA THI THUAT B BT &b BRUT | the lack of uniformity in the metals used, the

WDHR A g gre &1 =07 3= g & o fera| government took over control of coinage. This

I 3iAd: HRTSN Hal T BT ufcbar R _g"scl ultimately began the process of creating paper
currency.

30 2+2
H5IT §F <R B G ST TSl BT G 9% &1 | The Central Bank is the supreme bank of the entire
Sl G2 Bt Wﬁ% SEICICRINIEANERIER] banking system of the country, which controls the
FRAT g @a; oI B afeied § entire monetary and banking system of the country.

1. P51 9 AIC IRT el 3 Its main functions are as follows:-
2. WWW&WWWW% 1. The Central Bank issues notes.
3. B I IR F 3§D P oTT dR BT PRI 2. The Central Bank acts as the banker of the
FAT 3 government.
4. S BT b B b BRUI, B2 Sfeb, TR §BT | 3. The Central Bank acts as a banker for other banks
&1 FIRa 1 ST X 3 of the country.
4. Being the bank of banks, the Central Bank does
ST the work of inspection of commercial banks.
Or
ﬁshm%%‘ﬁjm@ Sfeforaw # &rﬁmm‘}h 3R Aggregate demand means the total demand for final | 4
. . . oods and services in an economy.
ag Srfaraey o it m EIT:ﬁ‘ERBI, qaﬁf WPR Ec is the total (final) expenditure o?‘lall units of the
3R am%gﬁmww (3ifer) A economy, i.e. households, firms, government and the




Pl | & GCh:-
AD=C+1+G+(X-M)

of the world.
Components of aggregate demand:-
AD=C+1+G+(X-M)

31 Waﬁ YR b= 1 3T, IATGH qUT ISR The concept of multiplier is an important concept of | 2+2
R ® & II?ETIUT RN g | S YRUN & JaY Keynes' income, production and employment theory.
9w o 81 arat ufvad= %WC[ AU GHA | This concept is related to the change in income as a
Rad= ¥ 81 I8 T i g g fop o fawr q@ result of change in investment. It is an economic fact
adead &Wﬁﬁ:ﬁq@ 81 Brcil forait fob f4a=I & | that when investment increases, income does not
q@ E‘s‘ g dfcw oma & Mo &t ?{@ kSl G increase as much as investment increases, but
QG 3{%?{@ grat gl foram RIGII qf?;’ 31 Bt § income increases many times more than the increase
3 UTh HEd g1 Bt B Ui Rigid f99=1 AT 31T | in investment. The greater the increase, the greater
T Fey R % ERNINESARCE UTh Hed gl | itis called a multiplier. Keynes' multiplier theory
T[0T i RN (a%T & IR ufkacH & establishes a relationship between investment and
URUMRGET 31 | g aTal 3ifad uRada & d&y income, hence it is called investment multiplier.
%! ad Bl g1 I AW H 819 a1 uRadH & &R | The concept of multiplier expresses the relationship
3T B g aTet UiRacH S3Jurd g gl between the initial change in investment and the
final change in income. It is the ratio of change in
income due to change in investment.
32 | §9lc WHR Pt AMNG AT qUT TG BT T STRT g off 3 The budget is a statement of the government's annug 2+2
fagad el 1 YA 31 dHF & &@qﬂ‘rﬁwmz income and expenditure that presents its estimates fqg
0 dld 99 & Iuatedl aul Giﬂ'clf*ﬂ'o\"dﬁ Taeh RO 4 the period from April 1 to March 31 of the next finand
IIAYEd gict g1 3ifPar soic & I UFT R faRiy e year. It also includes reports regarding achievements
fean wmar g o/ o arat 98 § WReR B GHJZITﬁ_d non-achievements of the past year. Mostly special
TN (311) 4T 0 1 ART gl gl attention is paid to that part of the budget which
W%H@Jmm % contains details of the estimated receipts (income) an
1. 3119 qUT Ul T GE faRur A & T gt B expenditure of the government in the coming year.
2. YAl o T: §CaRrT IR H TgrIdT gt gl The main objectives of the budget are as follows
3. 3rferayT # FRRaT RIfid #1 § Yeas 1. Helps in redistributing income and wealth.
4. IrAfTH IEHT BT T TR H g | 2. Helps in redistributing resources.
3. Helpful in establishing stability in the economy
4. Helpful in managing public enterprises.
33 aﬁﬁﬁmrwmﬂ:- Barter System: 2+2+
aﬁﬁﬁmmwmﬁww%ﬁ?aﬁw In that system, it is said that a commodity is 2

Rad-1g avg ¥ faar ST | I avg &1 uaig axg
- B gl

Tﬁﬁﬁm:-

i yomel § 1Tt a1 Rigds & YgHd =Y P
IUANT fpar ST €, gt fafa & arem & =g o
FT FRAT B

1. Afeep TouIet & raeaeharall &1 BIs alesr FaIT
TS e 5 |

2. NS Yorelt § Teg &1 A9 GG 8, 3rifd g1 s
I B GaT & 0 H A Jova g S axg faf e vomeft
IHT TRl gl

3. TS YuTTelt & e T A1 98 S 8, S 9%
fafrr yomeht & Tva T8 g

0o & I B

1. 9o U fafma o1 mremm g
2. g &1 HIUCUS a1

3. o 1 II9

4. YT Y BT HH

exchanged for a convertible commodity i.e. the
commodity is exchanged for its equivalent
commodity.

monetary system

In monetary system an agreed form of paper or
coin is used, currency acts as a medium of exchange
while in barter system goods are exchanged.

1. No double coincidence of wants is necessary in a
monetary system.

2. Measurement of value is possible in monetary
system, that is, we can measure every commodity in
terms of money which is not possible in barter
system.

3. It is very easy to accumulate wealth in a monetary
system, which is not possible in a barter system.
Main functions of money:-

1. Money is a medium of exchange.

2. Standard or unit of value

3. Store of value

4. Value of deferred payments




YT

IRAMAP 3T = 500 IRIS

Actual income = 500 crores

{Uﬁ SRR WR 31T = 800 BRI Full employment income = 800 crores 3+3
gifed &Wﬁq@ = 300 TRIS Increase in average income = Rs 300 crore
SIECRACIUNE N We know that AY = KAl
1 1
aYrK = mre - 1o07s e 4 And K = 1/(1-MPC) = 1/(1-0.75) = 1/0.25 = 4
Y UHR, Al = AK_Y _ % - 75PE Thus, Al = AY/K = 300/4 = 75 crores
ﬁémﬁq@ - 75 ES Increase in investment = 75 crores
34 | ey - Fiscal Policy:-
ST N ifd I I TRBHR B dolc T 31 9T A Fiscal policy means the policy related to budget or 3+3

Taieh Hfa I 8 S 1 AT a1 =g T Bt fRufa 3t 3
P & fo1U TS et B

3 Tea| H. gg ifd <21 & oy Tfad & Uarg &I [k
P S [T RPR B AW I AT B Afd T g, dIip
TP AT fa¥hifdd Gald & (I fdhar of 9
Y T & Herawy TR § GaI-Thifd a1 Hiad]
i &1 R I= 51 el § 1 9 STl offe 7T ol R
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income and expenditure of the government which is
adopted to correct the situations of excess demand o
deficiency.

In other words. This policy is the income and expendit
policy of the government to control the flow of
purchasing power in the country, so that inflationary
deflationary pressure can be controlled.

As a result of excess demand, a situation of inflation g
increase in prices arises in the economy. To control th
i.e. excess demand, the following fiscal measures are
adopted:-

1. By increasing direct taxes.

2. By reducing public expenditure.

3. By reducing deficit financing.

4. By increasing public debt.

In short, in case of excess demand, the government
should adopt the policy of surplus budget. As a result
the income of the government will increase and
expenditure will decrease.

Or

The structure of the budget refers to the various
components of the budget. It has two main
components. Revenue budget and capital budget.
Budget receipts mean the estimated monetary
income received by the government from all sources
in a financial year. This is also classified into two
parts. Revenue receipts and capital receipts.

Revenue receipts are classified into two parts.

Tax receipts and non-tax receipts.
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tax receipts

Non-tax receipts

- 5 Income tax Licenses and Permits

g e tmgf’ GQI;{;-%%” Corporation tax fine and confiscation

- estate duty escheat
Ul ek Qﬂ‘zﬁz’ gift tax income from government
QUG X WHRI IgH! Y3 enterprises
St R faRIy 3fi Custom duty special assessment
3dIq Yeh JUsR Excise duty gift
N e 3 sales tax subsidy




